HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. = 50cm
No| BIER X4 I & T =FT A = I6
1 BHINER 0.06 - - _
2 BiREEER 0.07 - - -
3 KREEDFER 0.07 - 0.06 0.07
4| 10868 = EINER 0.06 - 0.07 -
5 % | BERER 0.06 - - -
6 U T 007 - 007 -
7 = o B/NERR 0.06 - - -
8| 108118 TBIRNERR 0.07 0.07 0.06 -
9 10B48 PR EERR 0.07 - - -
10 BUR/NERR 0.07 - 0.07 0.07
11| 10A58 | i |KEBE/NMER 0.07 - 0.07 0.07
12| 108128 | AIm |AIEEREPER 0.05 - - 0.05
13 10f4E | g KIFE/NERR 0.08 - - -
14 BN 0.09 - - -
. = 50cm
No| BIFER [#X%£ W % P FELT R = I
1 BEINER 0.06 - — _
2 BIRESEER 0.07 - - -
3 KEE/NFER 0.07 - 0.07 0.06
4({108 198 5 FINER 0.06 - 0.07 -
5 % | BERER 0.06 - - -
6 L T 007 - 007 -
7 = th BN 0.06 - - -
8/ 108208 RN 0.06 - 0.06 0.07
9 10B178 YRR R 0.07 - - -
10 BUR/NERR 0.07 - 0.07 0.08
11108188 | i | KAB/NERK 0.07 - 0.07 0.07
12|108248 | AIFE [AIRERPER 0.05 - - 0.06
13 0A178 | 4 KIENERR 0.08 - - -
14 TN FERR 0.09 - -

BIES: 7OAWRENUFL—2ar AP —_AAA—H(TCS—172)




